## Mathematica Slovaca

## Michal Šabo

On an extension of finite functionals by the transfinite induction

Mathematica Slovaca, Vol. 26 (1976), No. 3, 193--200

Persistent URL: http://dml.cz/dmlcz/130360

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1976

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

# ON AN EXTENSION OF FINITE FUNCTIONALS BY THE TRANSFINITE INDUCTION

#### MICHAL ŠABO

The very well known theorem concerning the extension of a  $\sigma$ -finite measure defined on a Boolean ring of subsets of an abstract set may be proved by means of the transfinite induction [1]. The main subject of this paper is to show how the transfinite induction can be used to extend a finite functional defined on a certain lattice. The main result can be used for an extension both of a measure and an integral. A similar result was obtained in [3] but with the help of another construction.

1

Let S be a system in which a limit is defined for some sequences  $\{x_n\}$ ,  $x_n \in S$ . Let  $A \subset S$  and  $A^* = \{x \in S, \text{ for which there is } \{a_n\}, a_n \in A \text{ and } x = \lim a_n\}$ . Define a transfinite sequence:  $A = A_0 \subset A_1 \subset A_2 \subset ... \subset A_\omega \subset ...$  as follows  $A_\alpha = \bigcup_{\beta < \alpha} A_\beta^*$ . The following statement holds: There exists the smallest ordinal  $\sigma$  such that  $A_\sigma^* = A_\sigma$  i. e.  $A_\sigma$  is closed with regard to limits. The statement is an immediate consequence of the fact that for the ordinal  $\Omega$  we have  $A_\Omega = A_\Omega^*$  [2].

2

Let S be a lattice. Denote by  $x \cup y$   $(x \cap y)$  the supremum (infimum) of  $x, y \in S$ . Let  $\{x_n\}$  be a sequence of elements of S. Denote by  $\bigcup x_n(\bigcap x_n)$  the supremum (infimum) of the sequence  $\{x_n\}$  if it exists. Denote  $\lim x_n = x$  or  $x_n \to x(x_n, x \in S)$  if  $\bigcap_{n \ge 1} \bigcup_{i \ge n} x_i$ ,  $\bigcup_{n \ge 1} \bigcap_{i \ge n} x_i$  exist and  $x = \bigcap_{n \ge 1} \bigcup_{i \ge n} x_i$ . If  $\{x_n\}$  is an increasing (decreasing) sequence; i. e.  $x_n \le x_{n+1}(x_n \ge x_{n+1})$  and  $x = \bigcup x_n (x = \bigcap x_n)$ , we shall write  $x_n \nearrow x$   $(x_n \searrow x)$ .

Assume, that S fulfills:

- I.1. Let  $\{x_n\}$ ,  $x_n \in S$  be an increasing (decreasing) sequence bounded above (below). Then there exists  $x \in S$  such that  $x = \lim_{n \to \infty} x_n$ .
- 2. There are two binary operations +, on S satisfying the following conditions:

- (a)  $a, b, c \in S, a \leq b \Rightarrow b a \geq c c$ .
- (b)  $a, b, c \in S$ ,  $a \le b \Rightarrow a + c \le b + c$ ;  $a c \le b c$ ;  $c a \ge c b$ .

(c) 
$$x_n, y_n, x, y \in S, x_n \to x, y_n \to y \Rightarrow x_n \cup y_n \to x \cup y$$
  
 $x_n \cap y_n \to x \cap y$   
 $x_n - y_n \to x - y$   
 $x_n + y_n \to x + y$ .

Let A be a sublattice of S such that:

- II.1. A is closed under +, -.
- 2. If  $x \in S$ , then there exist  $a, b \in A$  such that  $a \le x \le b$ .

Let a real-valued finite functional J be defined on A such that:

III. 1.  $a, b \in A, a \leq b \Rightarrow J(a) \leq J(b)$ .

- 2.  $a, b \in A, a \leq b \Rightarrow J(a) + J(b-a) = J(b)$ .
- 3.  $a, b \in A \Rightarrow J(a) J(b) \leq J(a b)$ .
- 4.  $a, b \in A \Rightarrow J(a \cap b) + J(a \cup b) = J(a) + J(b)$ .
- 5.  $a_n \in A$ ,  $a_n \setminus o \Rightarrow \lim J(a_n) = 0$ .

o is such element of S that x - x = o for any  $x \in S$ . (1.2.a) implies that such element is uniquely defined. Evidently (by II.1.),  $o \in A$ .

We want to prove the existence of sublattice  $A_{\sigma}$  with  $A \subset A_{\sigma} \subset S$  and of a finite real-valued functional  $\bar{J}$  defined on  $A_{\sigma}$ , which is the unique extension of J such that for  $A_{\sigma}$ ,  $\bar{J}$  satisfies the conditions II, III and the property:

$$x_n \to x$$
;  $x_n \in A_\sigma \Rightarrow x \in A_\sigma$  and  $\lim \bar{J}(x_n) = \bar{J}(x)$ . (P)

3

The main purpose of this section is to prove that for any convergent sequence in A the following statement holds:  $J(\lim a_n) = \lim J(a_n)$ .

**Lemma 1.** J(o) = 0. It follows from (III.2.).

**Lemma 2.** If  $x_n \to x$ ;  $x, x_n \in S$ , then there exist  $a, b \in A$  such that  $a \le x_n \le b$  n = 1, 2, 3, ...

Proof.  $x = \bigcap_{i \ge 1} \bigcup_{i \ge n} x_i = \bigcup_{i \ge n} \bigcap_{j \ge n} x_j$ . (II.2.) implies the existence of  $a, b \in A$  such that

$$x_n \leq \bigcup_{i \geq 1} x_i \leq b$$
,  $x_n \geq \bigcap_{i \geq 1} x_i \geq a$   $n = 1, 2, 3, ...$ 

**Lemma 3.** If  $a_n \nearrow o$ ,  $a_n \in A$  then  $\lim J(a_n) = 0$ .

Proof. If  $o-a_n \setminus o$ , then  $J(o)-J(a_n) \leq J(o-a_n) \rightarrow 0$ . Hence  $\lim J(a_n) \geq J(o) = 0$ .

**Theorem 1.** Let  $a_n \nearrow a$   $(a_n \searrow a)$ ;  $a_n$ ,  $a \in A$ . Then  $\lim J(a_n) = J(a)$ .

Proof.  $a-a_n \searrow o(a_n-a \searrow o)$  implies:  $\lim_{n \to \infty} J(a-a_n) = 0$  ( $\lim_{n \to \infty} J(a_n-a) = 0$ ). Hence  $J(a)-J(a_n) \leqslant J(a-a_n) \to 0$  ( $J(a_n)-J(a) \leqslant J(a_n-a) \to 0$ );  $\lim_{n \to \infty} J(a) = 0$  ( $\lim_{n \to \infty} J(a) = 0$ ).

**Theorem 2.** Let  $a_n \rightarrow o$ ;  $a_n \in A$ . Then  $\lim J(a_n) = 0$ .

Proof. If  $a_n \to o$ ,  $a_n \in A$ , then  $a_n \cup o \to o$ . It implies:  $a_n \cup o - a_n \to o$  and  $a_n \cup o - a_n \ge o$ . We have (see III.2.)  $J(a_n) = J(a_n \cup o) - J((a_n \cup o) - a_n)$ . Thus, we can assume that  $a_n \ge o$ . It is sufficient to show that  $\limsup J(a_n) \le 0$ , because then  $0 \le \liminf J(a_n) \le \limsup J(a_n) \le 0$ ; i. e.  $\lim J(a_n) = 0$ .

From the definition of the limit  $o = \bigcap_{n \ge 1} \bigcup_{i \ge n} a_i$ . Denote  $s_n = \bigcup_{i \ge n} a_i$ . The sequence  $\{t_n\}$ , is decreasing and  $s_n \setminus o$ . We shall find a decreasing sequence  $\{t_n\}$ , t  $o \le t_n \le s_n$  n = 1, 2, 3, ... with the property:

$$\varepsilon \geqslant 0, x \in A, x \leqslant s_n \Rightarrow J(x) - J(t_n) \leqslant \varepsilon \sum_{i=1}^n \frac{1}{2^i}.$$
 (A

Assuming this,  $\lim J(t_n) = 0$  and if we put  $x = a_n$ , then  $\lim \sup J(a_n) \le \varepsilon$ .

There is  $c \in A$  (see Lemma 2.) such that  $\bigcup_{i=n}^{m} a_i \le \bigcup_{i \ge n} a_i \le c$ . Therefore the sequence  $\left\{ J\left(\bigcup_{i=n}^{m} a_i\right)\right\}_m$  is bounded by J(c). For any n there exists n',  $n' \ge n$  such that for any  $m \ge n'$   $J\left(\bigcup_{i=n}^{m} a_i\right) - J\left(\bigcup_{i=n}^{n} a_i\right) \le \frac{\varepsilon}{2^n}$ . Put  $k_n = \bigcup_{i=n}^{n} a_i$  and  $t_n = t_{n-1} \cap k_n$   $n = 1, 2, 3, \ldots$ ;  $t_0 = k_1$ .

(A) is satisfied for n = 1. In fact, if  $s_1 \ge x \in A$ , then  $x \cap \bigcup_{i=1}^m a_i \nearrow x$  Thus  $J(x) - J(t_1) = \lim_{i \to 1} J(x \cap \bigcup_{i=1}^m a_i) - J(k_1) \le \lim_{i \to 1} J(\bigcup_{i=1}^m a_i) - J(k_1) \le \frac{\varepsilon}{2}$ . Suppose (A) is satisfied for n - 1. Let  $x \le s_n$ ,  $x \in A$ . Then  $J(x) - J(k_n) = \frac{\varepsilon}{2}$ .

Suppose (A) is satisfied for n-1. Let  $x \le s_n$ ,  $x \in A$ . Then  $J(x) - J(k_n) - \lim_{n \to \infty} J(x) - J(k_n) \le \lim_{n \to \infty} J(x) - J(k_n) \le \frac{\varepsilon}{2^n}$ . As (III.4.) holds and  $t_{n-1} \cup k_n \le s_{n-1}$ , we have:  $J(x) - J(t_n) = J(x) - J(t_{n-1} \cap k_n) = J(x) - J(k_n) + U(t_{n-1} \cup k_n) - J(t_{n-1}) \le \sum_{i=1}^n \frac{\varepsilon}{2^i}$ .

**Theorem 3.** Let  $a_n$ ,  $a \in A$ ;  $a_n \rightarrow a$ . Then  $\lim J(a_n) = J(a)$ .

Proof.  $a_n \to a \Rightarrow a_n - a \to o$  and  $a - a_n \to o$ . Hence  $\lim J(a_n - a) - \lim J(a - a_n) = 0$ . It implies  $\lim \sup J(a_n) \leq J(a)$  and  $\lim \inf J(a_n) \geq J(a)$ .

4

In this section we are going to extend the functional J onto  $J^*$ , defined on a system  $A^*$ .

**Lemma 4.** Let  $x_n \to x$ ;  $x, x_n \in S$ ; let  $\{x_{k_n}\}: k_1 < k_2 < k_3 < \dots$  be a subsequence of  $\{x_n\}$ . Then  $x_{k_n} \to x$ .

Proof.  $\bigcup_{i\geqslant n} x_{k_i} \leqslant \bigcup_{i\geqslant n} x_i \Rightarrow \limsup x_{k_n} \leqslant \limsup x_n$ ,  $\bigcap_{i\geqslant n} x_{k_i} \geqslant \bigcap_{i\geqslant n} x_i \Rightarrow \liminf x_{k_n} \geqslant \lim \inf x_{k_n} \geqslant \lim \inf x_n$ .

**Definition 1.**  $A^* = \{x \in S, \text{ for which there is } \{a_n\}, a_n \in A \text{ and } = \lim a_n\}.$ 

**Definition 2.** Let  $x \in A^*$  i. e.  $x = \lim a_n$ ;  $a_n \in A$ , then  $J^*(x) = \lim J(a_n)$ .

It is necessary to prove that the limit in Definition 2 exists and depends only on x.

Let  $a_n \to x$ ;  $a_n \in A$ ; let  $\{a_{k_n}\}_{n=1}^{\infty}$  be a subsequence of  $\{a_n\}$  then (Lemma 4)  $a_{k_n} \to x$ . Hence  $a_{k_n} - a_n \to o$ ,  $a_n - a_{k_n} \to o$ . Thus  $\lim J(a_n - a_{k_n}) = \lim J(a_{k_n} - a_n) = 0$ . Hence  $0 \le |J(a_n) - J(a_{k_n})| = \max \{J(a_n) - J(a_{k_n}), J(a_{k_n}) - J(a_n)\} \le \max \{J(a_n - a_{k_n}), J(a_{k_n} - a_n)\}$ . For  $\varepsilon > 0$  there are  $n_1, n_2 : n > n_1 \Rightarrow J(a_n - a_{k_n}) < \varepsilon$ ,  $n > n_2 \Rightarrow J(a_{k_n} - a_n) < \varepsilon$ . Denote  $n_0 = \max \{n_1, n_2\}$ . For  $n > n_0$  we have:  $|J(a_n) - J(a_{k_n})| < \varepsilon$ . Hence  $\{J(a_n)\}$  is a Cauchy sequence.

Let  $a_n \to x$ ,  $b_n \to x$ ;  $a_n$ ,  $b_n \in A$ . Then  $a_n - b_n \to o$  and  $b_n - a_n \to o$ . Hence  $J(a_n) - J(b_n) \le J(a_n - b_n) \to 0$ ,  $J(b_n) - J(a_n) \le J(b_n - a_n) \to 0$ . Thus,  $\lim J(a_n) = \lim J(b_n)$ .

Denote  $L = \{x : x \in A^*, x = \bigcap_{n \ge 1} a_n, a_n \in A\}$ . Evidently, any element of L can be expressed as a limit of a decreasing sequence of elements of A and  $A \subset L \subset A^*$ . If  $l_n \setminus l$ ,  $l_n \in L$ , then  $l \in L$ .

**Lemma 5.** For any  $x \in A^*$  and  $\varepsilon > 0$  there exists  $l \in L$ ,  $l \le x$  such that  $|J^*(x) - J^*(l)| < \varepsilon$ .

Proof. Let  $x \in A^*$ , i. e.  $x = \lim a_n$ ,  $a_n \in A$ . From the definition of the limit  $x = \bigcup_{n \ge 1} \bigcap_{i \ge n} a_i$ ,  $a_i \in A \Rightarrow \bigcap_{i \ge n} a_i = l_n \in L$ . As  $l_n = \bigcap_{i \ge n} a_i = \bigcap_{i \ge n} a_i'$ , where  $a_i' = a_n \cap a_{n+1} \cap a_{n+2} \cap \ldots \cap a_i$ ,  $i = n, n+1, n+2, \ldots, a_i' \in A$  we have  $\lim J(a_i') = J^*(l_n)$ . Hence, for any n and  $\varepsilon > 0$  there exists an element  $a_n'$  such that  $|J(a_n') - J^*(l_n)| < \frac{\varepsilon}{2}$ ,  $l_n \le a_n' \le a_n$ . Thus, there exists a sequence  $\{a_n'\}$ ,  $a_n' \in A$  such that  $a_n' \to x$ . We have: for any  $\varepsilon > 0$  there exists  $n_0$  such that  $|J^*(x) - J(a_n')| < \frac{\varepsilon}{2}$  for any  $n > n_0$ . But this implies: for  $n > n_0$   $|J^*(x) - J^*(l_n)| = |J^*(x) - J(a_n') + J(a_n') - J^*(l_n)| \le |J^*(x) - J(a_n')| + |J(a_n') - J^*(l_n)| < \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon$ .

**Remark.** If  $x \ge o$ , one can choose  $l \ge o$ .

**Lemma 6.** Let  $l_n \setminus l$ ;  $l, l_n \in L$ . Then  $\lim J^*(l_n) = J^*(l)$ .

Proof. For any *n* there exists a sequence  $\{a_m^n\}$ ,  $a_m^n \setminus l_n$ . Denote  $c_n = \bigcap_{m=1}^n a_n^m$ , i. e.  $c_1 = a_1^n$ ,  $c_2 = a_2^2 \cap a_2^2$  etc. Evidently  $c_n \in A$ ,  $c_n \ge c_{n+1}$ ,  $c_n \ge l_n$ .

For any  $a_i^k$  there exists an element  $c_{ik} \in \{c_n\}$  such that  $a_i^k \ge c_{ik}$   $(i < k \Rightarrow a_i^k \ge c_k;$   $a_i^k \ge c_i;$   $i > k \Rightarrow a_i^k \ge c_i$ . Thus  $l = \bigcap_n \bigcap_m a_m^n \ge \bigcap_n c_n \ge \bigcap_n l_n = l$ . It implies  $c_n \ge l$  and therefore  $\lim_n J(c_n) = J^*(l)$ . Since  $c_n \ge l_n \ge l$ ,  $J^*(l) = \lim_n J(c_n) \ge \lim_n J^*(l_n) \ge J^*(l)$ .

**Theorem 4.** Let  $A^*$ ,  $J^*$  have the same meaning as before. Then  $A^*$  is a sublattice of S;  $J^*$  is a finite functional defined on  $A^*$ ;  $A^*$ ,  $J^*$  satisfy the following conditions:

II.1.  $A^*$  is closed with respect to +, -.

2.  $x \in S$  implies the existence of  $a, b \in A^*$  such that  $a \le x \le b$ .

III.1.  $a, b \in A^*, a \le b \Rightarrow J^*(a) \le J^*(b)$ .

- 2.  $a, b \in A^*, a \le b \Rightarrow J^*(b) = J^*(a) + J^*(b a)$ .
- 3.  $a, b \in A^* \Rightarrow J^*(a) J^*(b) \leq J^*(a b)$ .
- 4.  $a, b \in A^* \Rightarrow J^*(a) + J^*(b) = J^*(a \cap b) + J^*(a \cup b)$ .
- 5.  $a_n \searrow o$ ,  $a_n \in A^* \Rightarrow \lim J^*(a_n) = 0$ .

Proof. It is sufficient to show (III.5.). Let  $a_n \setminus o$ ,  $a_n \in A^*$ . Then  $a_n \ge o$ . For any n there exists an element  $l_n \in L$  such that  $o \le l_n \le a_n$  and  $J^*(a_n) - J^*(l_n) \le \frac{\varepsilon}{2^n}$  (Lemma 5). We introduce  $l'_n = l_1 \cap l_2 \cap l_3 \cap \ldots \cap l_n$ . Then  $l'_n \ge o$  and  $\lim l'_n = \cap l'_n = \cap l_n$ . Since  $o \le l'_n \le l_n \le a_n$ , we have  $\lim l'_n = o$ . It implies  $\lim J^*(l'_n) = 0$ . To complete the proof we shall show that  $\lim J^*(a_n) - \lim J^*(l'_n) \le \varepsilon$ , for any  $\varepsilon > 0$ . We prove that

$$J^*(a_n) - J^*(l_n') \le \varepsilon \sum_{i=1}^n \frac{1}{2^i} \tag{M}$$

using induction. Evidently, (M) is satisfied for n = 1. Applying (III.4.),  $J^*(l'_n) = J^*(l_n \cap l'_{n-1}) = J^*(l_n) + J^*(l'_{n-1}) - J^*(l_n \cup l'_{n-1})$  and since  $l_n \cup l'_{n-1} \le a_{n-1}$ , we have:  $J^*(a_n) - J^*(l_n) = J^*(a_n) - J^*(l_n) + J^*(l_n \cup l_{n-1}) - J^*(l_{n-1}) \le J^*(a_n) - J^*(l_n) + J^*(a_{n-1}) - J^*(l'_{n-1}) \le \varepsilon \sum_{i=1}^n \frac{1}{2^i}$ .

**Corollary.** If  $a_n \to a$ ,  $a_n \in A^*$ , then  $\lim J^*(a_n) = J^*(a)$ . The proof is analogous to the proof of Theorem 3.

5

In this section we shall obtain the main result of the paper: There exists a lattice  $A_{\sigma}$ ,  $A \subset A_{\sigma} \subset S$  which is closed with respect to limit, and a finite functional  $\bar{J}$  defined on  $A_{\sigma}$ , which is an extension of the functional J, where the property (P) is satisfied.

Introduce this transfinite sequence:

$$A = A_0 \subset A_1 \subset A_2 \subset ... \subset A_m \subset ...$$

where  $A_{\alpha} = A_{\alpha-1}^*$  if  $\alpha$  is an ordinal of the first kind, and  $A_{\alpha} = \bigcup_{\beta < \alpha} A_{\beta}$  if  $\alpha$  is an ordinal of the second kind.

#### **Theorem 5.** For any $\alpha$ it is true:

- (i) The functional J defined on A extends uniquely to a functional  $J_{\alpha}$  on  $A_{\alpha}$ .
- (ii) If  $x \in A_{\alpha}$ ,  $x \ge 0$ ,  $\varepsilon > 0$  then there exists  $l \in L$  such that  $o \le l \le x$  and  $J_{\alpha}(x) J_{\alpha}(l) < \varepsilon$ .
- (iii)  $A_{\alpha}$  is the sublattice of S,  $J_{\alpha}$  is a finite functional defined on  $A_{\alpha}$  and for  $J_{\alpha}$ ,  $A_{\alpha}$  the conditions II and III hold.

**Proof.** We are using the transfinite induction. Obviously, the theorem is true for  $\alpha = 1$  (Theorem 4).

Let  $\alpha$  be of the first kind. We define  $J_{\alpha}(x) = \lim J_{\alpha-1}(a_n)$ ,  $x \in A_{\alpha}$ ,  $a_n \in A_{\alpha-1}$ . As  $A_{\alpha} = A_{\alpha-1}^*$ , the first statement is obvious. There is a set  $L_{\alpha-1}$  related to  $A_{\alpha-1}$  as L to A, i. e.  $A_{\alpha-1} \subset L_{\alpha-1} \subset A_{\alpha}$ . Let  $x \in A_{\alpha}$ ,  $x \ge o$ , then there exist  $k \in L_{\alpha-1}$  such that  $o \le k \le x$  and  $J_{\alpha}(x) - J_{\alpha}(k) < \frac{\varepsilon}{2}$ . The definition of  $L_{\alpha-1}$  implies the existence of a sequence  $\{a_n\}$ ,  $a_n \in A_{\alpha-1}$ ,  $a_n \ge o$ ,  $a_n \setminus k$ . Since for  $\alpha - 1$  the statement is true, we find for any n an element  $l_n \in L$  such that  $o \le l_n \le a_n$  and  $J_{\alpha-1}(a_n) - J_{\alpha-1}(l_n) < \frac{\varepsilon}{2^{n+1}}$ .

Denote  $l'_n = l_1 \cap l_2 \cap l_3 \cap ... \cap l_n$ . Then  $o \le l'_n \le a_n$ ,  $l'_n \setminus l$ ,  $l \in L$  and  $o \le l \le k$ . It can be shown by induction:

$$J_{\alpha-1}(a_n) - J_{\alpha-1}(l'_n) < \frac{\varepsilon}{2} \sum_{i=1}^n \frac{1}{2^i}$$
.

In fact,  $J_{\alpha-1}(a_n) - J_{\alpha-1}(l'_n) = J_{\alpha-1}(a_n) - J_{\alpha-1}(l_n) + J_{\alpha-1}(l_n \cup l'_{n-1}) - J_{\alpha-1}(l'_{n-1}) < \frac{\varepsilon}{2} \sum_{i=1}^{n-1} \frac{1}{2^i} + \frac{\varepsilon}{2^{n+1}} = \frac{\varepsilon}{2} \sum_{i=1}^{n} \frac{1}{2^i}$ . It implies  $J_{\alpha}(x) - J_{\alpha}(l) = J_{\alpha}(x) - J_{\alpha}(k) + \frac{\varepsilon}{2^{n+1}} = \frac{\varepsilon}{2^n} \sum_{i=1}^{n} \frac{1}{2^i}$ .

 $+J_a(k)-J_a(l)<\frac{\varepsilon}{2}+\frac{\varepsilon}{2}=\varepsilon$ . The proof of statement (iii) is analogous to the proof of Theorem 4.

Let now  $\alpha$  be of the second kind. For any  $x \in A_{\alpha}$  we define  $J_{\alpha}(x) = J_{\beta}(x)$ , where  $\beta < \alpha$ . It is necessary to prove that  $J_{\alpha}(x)$  depends only on x. Contrary, suppose that there exist ordinals  $\beta_1$ ,  $\beta_2$ :  $\beta_1 < \beta_2 < \alpha$  such that  $x \in A_{\beta_1} \subset A_{\beta_2}$  and  $J_{\beta_1}(x) \neq J_{\beta_2}(x)$ . This statement contradicts the induction hypothesis.

The implication  $x \in A_{\alpha} \Rightarrow x \in A_{\beta}$ ,  $\beta < \alpha$  implies the validity of the statement (ii). For the proof of the statement (iii) it is sufficient to show (III.5.) only. This proof is analogous to the proof used in Theorem 4 using the statement (ii).

**Corollary.** For any  $\alpha$  it is true:  $a_n \rightarrow a$ ;  $a_n$ ,  $a \in A_\alpha \Rightarrow \lim J_\alpha(a_n) = J_\alpha(a)$  (Theorem 3).

If we put  $J_{\sigma} = \bar{J}$ , we have a sublattice  $A_{\sigma}$  of S and a finite functional  $\bar{J}$  defined on  $A_{\sigma}$  that is a unique extension of J. For  $A_{\sigma}$  and  $\bar{J}$  the conditions II, III and the property (P) hold, i. e.  $x_n \in A_{\sigma}$ ,  $x_n \to x \Rightarrow x \in A_{\sigma}$  and  $\lim \bar{J}(x_n) = \bar{J}(x)$ .

6

Let  $\mathcal{S}$  be the system of all subsets of a set X. Define  $A + B = A \cup B = \{x : X \in A \text{ or } x \in B\}$ ;  $A - B = \{x : x \in A \text{ and } x \in B\}$ ;  $A \cap B = \{X : X \in A \text{ and } x \in B\}$ ;  $A, B \in \mathcal{S}$ .

Let  $\mathscr{A}$  be an algebra of subsets of X and J be a finite measure defined on  $\mathscr{A}$ . Then the system  $\mathscr{A}_{\sigma}$  constructed in the same way as in section 5 is a  $\sigma$ -algebra generated by  $\mathscr{A}$  (see [4]. p. 26). By means of the results of previous sections we get the theorem on an extension of a finite measure:

Let  $\mathscr{A}$  be an algebra of subsets of X, J a finite measure defined on  $\mathscr{A}$ . Then the measure J can be uniquely extended on the  $\sigma$ -algebra generated by  $\mathscr{A}$ .

Let now  $\mathscr{S}$  be a system of all finite real functions defined on a set X. Let  $\mu$  be a finite measure defined on a  $\sigma$ -algebra  $\mathscr{M}$  of subsets of X. The limit is defined as follows:  $f_n \to f$ ;  $f, f_n \in \mathscr{S} \Leftrightarrow f_n(x) \to f(x)$ , for all  $x \in X$ . The relations +, - and  $\leq$  have the usual meaning. Let  $\mathscr{B}$  be a system of simple integrable functions, i. e.

$$f \in \mathcal{B} \Leftrightarrow f = \sum_{i=1}^{n} c_i \chi_{E_i}, E_i \in \mathcal{M}, E_i \cap E_j = \emptyset, i \neq j. \text{ Denote } J_0(f) = \sum_{i=1}^{n} c_i \mu(E_i), \text{ for } f \in \mathcal{B}.$$

We get the following theorem on an extension of a finite integral: There exist a system  $\mathcal{N}: \mathcal{B} \subset \mathcal{N} \subset \mathcal{S}$  and a finite integral J defined on  $\mathcal{N}$ , which is a unique extension of  $J_0$  such that:  $f_n \to f$ ;  $f_n \in \mathcal{N}$ ,  $f \in \mathcal{S} \Rightarrow f \in \mathcal{N}$  and  $J(f) = \lim J(f_n)$ .

#### REFERENCES

- [1] FOX, G.: Note on the Borel method of Measure extension. Canad. Math. Bull., 5, 1962, 285—296.
- [2] KELLEY, J. L.: General topology. New York 1957.
- [3] РИЕЧАН, Б.: О непрерывном продолжении монотонных функционалов некоторого типа. Mat.-fyz. Čas., 15, 1965, 116—125.
- [4] HALMOS, P. R.: Measure theory. 12. ed. Toronto 1968.

Received January 11, 1974.

Katedra matematiky Chemicko-technologickej fakulty SVŠT Jánska ul. 1 880 37 Bratislava

## О ПРОДОЛЖЕНИИ КОНЕЧНЫХ ФУНКЦИОНАЛОВ МЕТОДОМ ТРАНСФИНИТНОЙ ИНДУКЦИИ

#### Михал Шабо

#### Резюме

Теорема о продолжении меры была доказана также методом трансфинитнои индукции [1]. В статье этим методом доказана теорема об единственном продолжении непрерывного монотонного функционала J, определенного на некоторой подструктуре A условно  $\sigma$ -монотонной структуры S, замкнутой относительно операций +, -. Первый индукционный шаг излагаетвя в части 4. В части 5 мы докажем существование непрерывного монотонного функционала J, определенного на подструктуре  $A_{\sigma}: A \subset A_{\sigma} \subset S$ . J единственное продолжение J, J и  $A_{\sigma}$  выполняют свойство (P), т. е.  $x_n \in A_{\sigma}$ ,  $\lim x_n = x \Rightarrow x \in A_{\sigma}$ ,  $J(x) = \lim J(x_n)$ . Часть G посвящена применению главной теоремы для продолжений меры и интеграла.